
Chimera7 Pro SONY相机
机架组装示意图
Frame Assembly Guide

3. 相机底座 CNC
Camera base plate CNC x1

1. 相机前固定板 CNC
Camera front mounting plate CNC x1

2. 底座 CNC
Base CNC x1

4. 相机升降架 CNC
Camera lift mount CNC x2

7. 相机垫片B打印件
Camera spacer B TPU x1

5. 相机后板 CNC
Camera rear plate CNC x1

6. 相机垫片A打印件
Camera spacer A TPU x1

8. 相机垫片C打印件
Camera spacer C TPU x1

11. x4

9. 橡皮筋
Rubber band x2

10. M3*6 沉头内六角螺丝
M3*6 countersunk hex screw x2

12. M3*6 内六角螺丝
M3*6 hex screw

x2

13. 内六角塞打螺丝￠3*M2.5*3
￠3*M2.5*3 hex shoulder screw x2

14. M3*8 内六角螺丝 
M3*8 hex screw x4

15. 快装板螺丝
Screws for quick release x1

21. 快装板螺丝
Screws for quick release x1

M3*7 内六角螺丝
M3*7 hex screw

         附赠
Additional parts

18. x2

16. 橡皮筋
Rubber band x2

17. M3*6 沉头内六角螺丝
M3*6 countersunk hex screw x1

19. M3*6 内六角螺丝
M3*6 hex screw

x1

20. M3*8 内六角螺丝 
M3*8 hex screw x2

M3*7 内六角螺丝
M3*7 hex screw

1
6

8
3

15

2

5

7

4

12

9

14
13

11

10


